
 Standard Packing List  

Page 1 
DESCRIPTION QUANTITY Check 

Sidecar tube 2  

Front wheel tube 2  

Rear wheel tube 2  

Side car tyre 1  

Front tyre 3.25 1  

Rear tyre   4.10 1  

Tread Depth Gage 1  

Spark Plug 1  

Air Cleaning Element 1  

Drive Chain 1  

Clutch cable 1  

Accelerator cable 1  

Speedo cable 1  

Head Light bulb 1  

Led Flasher Unit 1  

Indicator Flasher unit 1  

Fuse 2  

Indicator lamp (ones removed front and rear if removed) 1  

Bearing Kit (seal, inner and outer bearing, cap, grease pouch) 1  

Nodlock (new Style 16mm) or Lock Washer (old Style)   2  

Front suspension Vasconite bush  2  

Front Suspension Stainless Steel Bush 4  

Funnel Large (for Oil)  1  

Funnel Small  or bottle (that will fit into battery ) 1  

Compressor Pump 1  

Puncher Kit 1  

Bike tool Kit (screw driver plug spanner) 1  

Set of pliers 1  

Tyre lever 2  

Open End Spanner 8 1  

Open End Spanner 10 1  

Open End Spanner 12 1  

Open End Spanner 13 2  

Open End Spanner 14 1  

Open End Spanner 15 1  

Open End Spanner 17 1  

Open End Spanner 18 1  

Open End Spanner 19 1  

Socket 24mm 1  

Ratchet handle 1  

Set of Alan Keys 1  

Cable Ties - Medium 10  

Bar Protector Long  2  

Bar Protector Short 1  

Backrest bar protector 1  

Tent PVC 1  

Mattress 1  



Page 2  
 

Cushion 1  

Stretcher PVC  1  

Insert Rear  1  

Insert Side 2  

Rain suit  1  

Vest  1  

Jerry can    

Parts Manual Frame 1  

Parts Manual Engine 1  

Operators Manual 1  

Cleaning Manual 1  

Set of Warranty books 1  

Helmets Open faced Medium 1  

Helmets open faced Large 1  

Tent Bag  1  

Padlocks 2  

Bike Stand 1  

Scrap Material of each Material (for Patching) 1  

M10 x 40mm bolt 2  

M10 washers 2  

M10 nylocks 2  

M8 x 40 bolts 2  

M8 x 40 button head 2  

M8 washers 2  

M8 nylocks 2  

M6 x 20 cheese head  2  

M6 washer 2  

M6 Nylocks 2  

Bike mirrors 2  

First Aid Kit 1  

   
 

 


